Dressagerail 60x20m

l Opening.

Dressagerail 60x20m contains: r B B B—8—=8 B
4pcs Corner cube. !
49pcs Straight cube.

1]
40pcs 2,935m plank.
10pcs 3.30m plank. [J
2pcs 2.22m plank. 0
Ipcs 2.10m plank. &
When you build. []
Start with a corner, then do longside, shortside and longside.[J
Do the shortside with the opening last. |
One longside consists of 20pcs 2,935m plank and o
19 straight cubes. o

Shortside without opening consists of 6pcs 3.30m plank o

and 5 straight cubes. h
Shortside with opening consists of: m
4pcs 3.30m plank. m
2pcs 2.22m plank.
1pcs 2.10m plank. i
6pcs straight cubes.
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